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Answer - (47) Economic reforms - Sectoral  growth in education,

health, social security

1) With reference to Government of India’s decisions regarding Foreign Direct Investment (FDI)

during the year 2001-02, consider the following statements :

a) Out of the 100% FDI allowed by India in tea sector, the foreign firm would have to disinvest

33% of the equity in favour of an Indian partner within four years

b) Regarding the FDI in print media in India, the single largest Indian shareholder should have

a holding higher than 26%.

Answer Options :

1) (a)  only 2) (b) only 3) Both (a) and  (b)    4) Neither (a) nor  (b)

1-4 2-4 3-1 4-4 5-3 6-3 7-2 8-4 9-1 10-4

11-3 12-2 13-4 14-4 15-2 16-1 17-4 18-2 19-3 20-2

21-3 22-3 23-4 24-1 25-3 26-3 27-3 28-3 29-4 30-4

31-3 32-2 33-3 34-3 35-4 36-1 37-2 38-4 39-4 40-1

41-3 42-2 43-2 44-4 45-4 46-2 47-2 48-2 49-3 50-1


